

NAME: Ogunlana Omolara Abiodun

COURSE: MATH 104

DEPARTMENT: Aeronautical Engineering

MATRIC NO: 19/ENG09/D/B

DATE: 15/04/2020

Question 1

Derivative of the following from first principle;

a. $\frac{dy}{dx}$ of $\sin\left(\frac{3}{x^2}\right)$

$$y = \sin\left(\frac{3}{x^2}\right)$$

$$(\Delta y + y) = \sin \frac{3}{(\Delta x + x)^2}$$

$$\Delta y = \sin\left(\frac{3}{(\Delta x + x)^2}\right) - \sin \frac{3}{x^2}$$

$$\Delta y = \sin\left(\frac{3}{(\Delta x)^2 + 2x\Delta x + x^2}\right) - \sin \frac{3}{x^2}$$

using trig identity

$$\sin A - \sin B = 2 \cos \frac{A+B}{2} \sin \frac{A-B}{2}$$

$$\frac{A+B}{2} = \frac{3}{(\Delta x)^2 + 2x\Delta x + x^2} + \frac{3}{x^2} = \frac{3(x^2) + 3(\Delta x)^2 + 2x\Delta x + x^2}{2x^2((\Delta x)^2 + 2x\Delta x + x^2)}$$

2

$$\frac{A+B}{2} = \frac{3x^2 + 3(\Delta x)^2 + 6x\Delta x + 3x^2}{2x^2((\Delta x)^2 + 2x\Delta x + x^2)} = \frac{\frac{3}{2}x^2 + \frac{3}{2}(\Delta x)^2 + 3x\Delta x + \frac{3}{2}x^2}{x^2((\Delta x)^2 + 2x\Delta x + x^2)}$$

$$= \frac{3x^2 + \frac{3}{2}(\Delta x)^2 + 3x\Delta x}{x^2((\Delta x)^2 + 2x\Delta x + x^2)}$$

$$x^2((\Delta x)^2 + 2x\Delta x + x^2)$$

$$\frac{A-B}{2} = \frac{3}{(\Delta x)^2 + 2x\Delta x + x^2} - \frac{3}{x^2} = \frac{3x^2 - 3(\Delta x)^2 + 2x\Delta x + x^2}{x^2(\Delta x)^2 + 2x\Delta x + x^2}$$

$$= \frac{3x^2 - 3(\Delta x)^2 - 6x\Delta x - 3x^2}{2(x^2(\Delta x)^2 + 2x\Delta x + x^2)}$$

$$= \frac{-3/2(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}$$

$$\Delta y = 2 \cos\left(\frac{3x^2 + 3/2(\Delta x)^2 + 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right) \sin\left(\frac{-3/2(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right)$$

$$\frac{\Delta y}{\Delta x} = 2 \cos\left(\frac{3x^2 + 3/2(\Delta x)^2 + 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right) \sin\left(\frac{-3/2(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right)$$

$$\frac{\Delta y}{\Delta x} = \cos\left(\frac{3x^2 + 3/2(\Delta x)^2 + 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right) 2 \sin\left(\frac{-3/2(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right)$$

Δx

multiply the denominator & numerator by

$$-3/2 \Delta x - 3x$$

$$x^2(\Delta x)^2 + 2x\Delta x + x^2$$

$$\frac{\Delta y}{\Delta x} = \cos\left(\frac{3x^2 + 3/2(\Delta x)^2 + 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right) 2 \left(\frac{-3/2 \Delta x - 3x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right) \sin\left(\frac{-3/2(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}\right)$$

$$-3/2 \Delta x - 3x$$

$$x^2(\Delta x)^2 + 2x\Delta x + x^2$$

Using Standard limit

$$\boxed{\frac{\sin \theta}{\theta} = 1}, \quad \theta = \frac{-\frac{3}{2}(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}, \quad \therefore \sin \left(\frac{-\frac{3}{2}(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2} \right) = \frac{-\frac{3}{2}(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2}$$

$$\frac{\Delta y}{\Delta x} = \lim_{\Delta x \rightarrow 0} \cos \left(\frac{-\frac{3}{2}(\Delta x)^2 - 3x\Delta x}{x^2(\Delta x)^2 + 2x\Delta x + x^2} \right) \lim_{\Delta x \rightarrow 0} 2 \left(\frac{-\frac{3}{2}\Delta x - 3x}{x^2(\Delta x)^2 + 2x\Delta x + x^2} \right) \Delta x$$

$$\frac{dy}{dx} = \cos \left(\frac{3x^2 + 0}{x^2(0+0+x^2)} \right) \cdot 2 \left(\frac{-3x}{x^2(0+0+x^2)} \right)$$

$$\frac{dy}{dx} = \cos \left(\frac{3x^2}{x^4} \right) \cdot \frac{-6x}{x^4}$$

$$\frac{dy}{dx} = \cos \left(\frac{3}{x^2} \right) \cdot \frac{-6}{x^3}$$

$$\therefore \frac{dy}{dx} = \frac{-6}{x^3} \cos \left(\frac{3}{x^2} \right)$$

(ii) $y = \frac{4}{x^3}$

$$(\Delta y + y) = \frac{4}{(\Delta x + x)^3}$$

$$(\Delta y + y)(\Delta x + x)^3 = 4$$

Expansion

$$(\Delta y + y) (\Delta x)^2 + 2x\Delta x + x^2 (\Delta x + x) = 4$$

$$(\Delta y + y) (\Delta x)^3 + x(\Delta x)^2 + 2x(\Delta x)^2 + 2x^2\Delta x + x^2\Delta x + x^3 = 4$$

$$(\Delta y + y) (\Delta x)^3 + 3x(\Delta x)^2 + 3x^2\Delta x + x^3 = 4$$

$$\Delta y (\Delta x)^3 + 3x(\Delta x)^2 \Delta y + 3x^2 \Delta x \Delta y + x^3 \Delta y + (\Delta x)^3 y + 3x(\Delta x)^2 y + 3x^2 \Delta x y + x^3 y = 4 \rightarrow *$$

input $y = \frac{4}{x^2}$ any where it occurs in the equation *

$$\Delta y (\Delta x)^3 + 3x(\Delta x)^2 \Delta y + 3x^2 \Delta x \Delta y + x^3 \Delta y + (\Delta x)^3 \cdot \frac{4}{x^3} + 3x(\Delta x)^2 \cdot \frac{4}{x^2} + 3x^2 \Delta x \cdot \frac{4}{x} + x^3 \cdot \frac{4}{x^3} = 4$$

$$\Delta y (\Delta x)^3 + 3x(\Delta x)^2 \Delta y + 3x^2 \Delta x \Delta y + x^3 \Delta y + \frac{4(\Delta x)^3}{x^3} + \frac{3 \cdot 4(\Delta x)^2}{x^2} + \frac{3 \cdot 4 \Delta x}{x} + 4 = 4$$

$$\Delta y (\Delta x)^3 + 3x(\Delta x)^2 \Delta y + 3x^2 \Delta x \Delta y + x^3 \Delta y + \frac{4(\Delta x)^3}{x^3} + \frac{12(\Delta x)^2}{x^2} + \frac{12 \Delta x}{x} = 4 - 4$$

$$\Delta y (\Delta x)^3 + 3x(\Delta x)^2 \Delta y + 3x^2 \Delta x \Delta y + x^3 \Delta y + \frac{4(\Delta x)^3}{x^3} + \frac{12(\Delta x)^2}{x^2} + \frac{12 \Delta x}{x} = 0$$

$$\Delta y (\Delta x)^3 + 3x(\Delta x)^2 \Delta y + 3x^2 \Delta x \Delta y + x^3 \Delta y = -\frac{4(\Delta x)^3}{x^3} - \frac{12(\Delta x)^2}{x^2} - \frac{12 \Delta x}{x}$$

factoring the two sides

$$\Delta y ((\Delta x)^3 + 3x(\Delta x)^2 + 3x^2 \Delta x + x^3) = \Delta x \left(\frac{4(\Delta x)^2}{x^3} - \frac{12 \Delta x}{x^2} - \frac{12}{x} \right)$$

Divide both sides by Δx

$$\frac{\Delta y}{\Delta x} ((\Delta x)^3 + 3x(\Delta x)^2 + 3x^2 \Delta x + x^3) = \frac{4(\Delta x)^2}{x^3} - \frac{12 \Delta x}{x^2} - \frac{12}{x}$$

Divide both sides by $((\Delta x)^3 + 3x(\Delta x)^2 + 3x^2 \Delta x + x^3)$

$$\frac{\Delta y}{\Delta x} = \frac{4(\Delta x)^2}{x^3} - \frac{12 \Delta x}{x^2} - \frac{12}{x}$$

$$\frac{\Delta y}{\Delta x} = \frac{4(\Delta x)^2 - 12 \Delta x - 12}{(\Delta x)^3 + 3x(\Delta x)^2 + 3x^2 \Delta x + x^3}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{4(0)^2 - 12(0) - 12}{0^3 + 3x(0)^2 + 3x^2(0) + x^3}$$

$$= \frac{-12}{x^3}$$

$$\therefore \frac{dy}{dx} = \frac{-12}{x^3}$$

$$\frac{dy}{dx} = \frac{-12}{x^4}$$

Question 2

Integrate the following

$$1) \int \frac{1}{x^2+36} dx = \int \frac{1}{x^2+6^2} dx$$

$$\text{let } x = 6 \tan \theta$$

$$\therefore \frac{dx}{d\theta} = 6 \sec^2 \theta$$

$$dx = 6 \sec^2 \theta d\theta$$

$$= \int \frac{1}{(6 \tan \theta)^2 + 36} \cdot 6 \sec^2 \theta d\theta$$

$$= \int \frac{1}{36 \tan^2 \theta + 36} \cdot 6 \sec^2 \theta d\theta$$

$$= \int \frac{1}{36(\tan^2 \theta + 1)} \cdot 6 \sec^2 \theta d\theta$$

$$= \int \frac{1}{36 \sec^2 \theta} \cdot 6 \sec^2 \theta d\theta$$

$$= \int \frac{1}{6} d\theta = \frac{1}{6} \int d\theta = \frac{1}{6} \cdot \theta$$

$$\text{But, } \theta = \tan^{-1} \frac{x}{6}$$

$$\therefore \int \frac{1}{x^2+36} dx = \frac{1}{6} \tan^{-1} \frac{x}{6} + C$$

$$(ii) \int \frac{1}{x^2+13} dx$$

$$\text{Let } x = \sqrt{13} \tan \theta, \quad \frac{dx}{d\theta} = \sqrt{13} \sec^2 \theta, \quad dx = \sqrt{13} \sec^2 \theta d\theta$$

$$= \int \frac{1}{(\sqrt{13} \tan \theta)^2 + 13} \cdot \sqrt{13} \sec^2 \theta d\theta$$

$$= \int \frac{1}{13 \tan^2 \theta + 13} \cdot \sqrt{13} \sec^2 \theta d\theta$$

$$= \int \frac{1}{13(\tan^2 \theta + 1)} \cdot \sqrt{13} \sec^2 \theta d\theta$$

$$= \int \frac{1}{13 \sec^2 \theta} \cdot \sqrt{13} \sec^2 \theta d\theta$$

$$= \int \frac{\sqrt{13}}{13} d\theta = \frac{\sqrt{13}}{13} \int d\theta = \frac{\sqrt{13}}{13} \cdot \theta = \frac{1}{\sqrt{13}} \cdot \theta$$

$$\text{But } \theta = \tan^{-1} \frac{x}{\sqrt{13}}$$

$$\therefore \int \frac{1}{x^2+13} dx = \frac{1}{\sqrt{13}} \tan^{-1} \frac{x}{\sqrt{13}} + C$$